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Instructions / drdden :

1. Answer all questions.
) VB VL VDATPTHOA0 FPA500

2. Answers are to be marked on the OMR sheet supplied. Every question is provided with four
answers. Only one of these answers is correct. Correct answer is to be marked in one of the

circles (A or B or C or D) by filling the circle with HB Pencil. Marking with ball point pen is not
permitted.

DA OMR DR &° (1Hotsod . 0D 03) D T DATEIDNL) BDEEID
DH¥eS® 28 VAT APGa0 DO QDG . DB DATEHHIHL (A/B/C/D) S
O™ &) W)’ HB DINS & 33100508 . &°eS Frowots DS T°¢ TG

3. The OMR sheet should not be folded or crushed.
OMR 0800080 H0¢Ed :bcgo TE HOD 5&1)6633.

4. Question numbers 1 to 10 carry one mark each and question numbers 11 to 40 carry two
marks each. Question numbers 41 to 50 carry three marks each.

1 &ood 10 S8 o D VD Felr) 03O 1 Jed),. 118006 4058 (S V3 VD 3
23D 2 Jedyen. 41 00 50 HBLH Ko VOO 2D D3) L 32, e0.

5. No negative marking for the wrong answers.
éQ).D QAT VL :mdozjw éQoé ¢



6. Cell phones / calculators and slide rules are not permitted in to the examination hall.
DO S0 S°08 1S Vo, 529D Seab en ( Calculators ) SOA3L PE Eren OIS0t

8¢

7. Please do not write anything (name or hall ticket number) on the question paper. Two blank
sheets are added at the end of the question paper. These sheets can be used for doing rough
work.

D) DI T DAPTPODGI0P T D (DG / 5S35 Doesb) FrabOG. L)

G50 VDG’ ot BYSNBBVRD oA, 6D HE), & SNBIVVP BROEVDLY.
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1. Thesumof2° 3%and 4°is:

2°,3%, 4% DB Joeh?

(A)o (B)1 (€)3 (D)9
2. 360 can be written as:

360 &0 & $0& Do § FODSLY

(A)2x3x5 (B)2*x3°x5 (C)8x4x5 (D) 3°x 2> x 5"
3. The HCF of 12 and 28 is:

12 208030 28 © 5. . 10 Joh?

(A) 2 (B)3 (C)4 (D) 36
4. The square root of 0.04 is:

0.04 & DG BATOB doeh?

(A) 0.002 (B) 0.02 (©)o.2 (D)o.16
5. A person took a loan of Rs 1500 from his employer for 3 months at 12% per annum simple
interest. The amount he has to return is:

28 558 1500 Erraomy Sured Do Fdm 12 % 3¢ P SRHI) |, B30 3oV ANBHD Jodh ?

ot

(A) Rs 45 (B) Rs 1500 (C) Rs 1545 (D) Rs 1455



6. If the area of a circle is 81T] square feet, what is its circumference in feet?

w8 BB AIE); DTV L TT DO Een @D, & BEBY ot Sod (e9¢oree5’ ) Do ?

(A)9 (B) 18 (SRR (D) 1811

7. In a given school, there 240 boys and 260 girls. What is the ratio of the number of girls to the
number of boys?

08 FET0 &S 240 eredd 0005 260 erden &) , @ FETV &' erdEL O e DY Jodh ?

(A) 1:1 (B) 13:12 (C) 12:13 (D) 240:260

8. A man purchased a bundle of cloth, with a list price of Rs 20000, and a sales tax of 10%

on it. He paid Rs 25000 to the shopkeeper. The money he got back was :

8 98 28 TR0 2 20000 Erroo® €, ol D 10 % 08 DAY . B IR oIS

25000 6rroenBodd, 3 36A DBy Ty Jod ?

(A) Rs 22000 (B) Rs 15000 (C) Rs 3000 (D) Rs 2000

9. The area of acircle is 314 cm2. If T = 3.14, then its diameter s :

w8 58 PTrORW 314 SB6D 2086 €. T Ded 3 .14 2, &8 Hyh TogRD0 dodd ?

(A) 100 cm (B) 50 cm (C)20cm (D)10cm
10. What fraction of 1 hour is 50 minutes?

208 0t &5° 50 DNV QSA Sodhd ?

A. 1 /50 B. 6/5 C.5/6 D. 50/1

11. N is one of the numbers below. N is such that when multiplied by 0.75 gives 1. Which number is
equal to N?

& G005 FDNDVOYS © S* s NDewsd . N 0.75 8 3TDN0DD DBy Dewd 1. N Dewd dogs ?

A)11/2 B)11/3 C)5/3 D) 3/2
12. If sinB + cosB= 2 cosO, the value of tan B is:

sinB + cos B =2 cos 6,28 tan BJeHd Doh ?

(A) 2 (B) 1 (€)2-1 (D) 2 +1



vZ3125
13. Simplify : ¥5343

(V 3125)/(V 343)a 24 $8020

(A)( 25¥15 /27) (B) (3125 / 343) (C) (3125 X 343) (D) (343 /3125)

14. Value of kif 64 + k = 4.

64 +k=425,k Ddend does ?

(A) 4 (B) 8 (C) 16 (D) 32
15. Whatisx ifx +2y =10andy =3?

X+ 2y =10 &00030 y = 3 9 , X ded dod ?

(A) 6 (B)3 (C) 4 (D)7

16. A machine fills 150 bottles of water every 8 minutes. How many minutes it takes this machine to
fill 675 bottles?

2,8 00BN RB 8 DAVVENOLH 150 DIV VoDAVE . 675 VOO VoETIS €2 AHoGHVHL VY
BNV HDEIHRH ?
(A) 24 (B) 36 (C) 44 (D) 48

17. A person walking at a speed of 4.8 kilometres an hour can cover how many metersin one
minute?

(fotrsd 4.8 $° e Drisw & B a8 DY, w8 Ddwndw & V) gy BedI ?

(A) 100 (B) 120 (C) 80 (D) 160

18. The perimeter of square A is 3 times the perimeter of square B. What is the ratio of the area of
square A to the area of square B.

A 90 SIB0BRED oBo.)Sb :meén o , B 0930 dSB080800% 3 Be @R, A0B08L B tetudhn © Q?"ozgéa)
(A) 1:3 (B)3:1 (C)1:9 (D)9:1
19. At a book stall, a discount of x% was allowed on each book. A book was purchased by

a customer for Rsy, its marked price was :



28 LDYS°O ISR &S DB LDYEI0 P VWD G6 WS X % Toond AN, FR0FDTPED 08 DREIW
INISORY; doearasoen :3@0:3:6, 2 DVEAD 9N BY Doh ?

(A)Rs (100y)/(100-x)  (B)Rs (100vy) /(100 +x) (C) Rs (100y) / x (D) Rs. xy

20. A wholesaler allows a discount of 20% on the list price to a retailer. The retailer sells

at 8% discount on the list price. The profit percent of the retailer is :

28 65760 DGLOED B DA e 36D 20 % Bhow) DYE HGHVLH BBV . &8 DU §) AW
DL , 9 6 D 8% éQozi’) O, 303 b&‘)é g FHA Doeh ?

(A) 20% (B) 15% (C) 12% (D) 8%

21. Which is the greatest?

& 300 *D é‘bga 26?7

A. 90% of 10 B. 6% of 1000 C. 5% of 1400 D. 3% of 2500

22. George bought a car at Rs.5000 and sold it at Rs.5500. What benefit, in percent, did he
make?

&9 28 soeb @ 5000 SrFrohoH § , 5500 drdraiersd QD , 033 aa()a €23 FPHAD Jogd ?

A. 500% B. 10% C. 5000% D. 5%
23. If 20% of n is equal to 40, what is n?

N aBoog); 20 % Jend 4025 , N Dend does ?

A. 200 B. 2000 C. 800 D. 80
24, Which two fractions are not equivalent?

& 800 D) dw © &5° ) Botd DATHDAD S

A. 1/2 and 2/4 B. 4/3 and 8/6 C. 1/5and 3/15 D. 2/3 and 8/9
25. Arrange from least to greatest: 8/9,17/18,2/3,7/6.

DB B ol JEO)H DHERS® groswsw: 8/9,17/18,2/3,7/6 .

A. 8/9,17/18,2/3,7/6 B. 2/3,8/9,17/18,7/6

C. 8/9,2/3,17/18,7/6 D. 2/3,7/6,8/9,17/18



26. Which fraction is closest to 1? .

& e:)eé‘lawoes‘* 26 18 s &S° &0 ?

A. 10/11 B. 11/10 C. 9/11 D. -9/10
27. 5/2+2/5=

Al B. 4/25 C. 25 D. 6%
28. To have F+2 5/7 = 4, F must be equal to

F+25/7 = 4¢5° F Densd does ?

A1 B. 2 C. 12/7 D. 22/7
29. The total surface area of a closed right circular cylinder of radius 3.5 m and height
7mis:
Dot PRIV LD &) 28 YIVHO CINEY TGAD 3.5 oagh S0 DB 7 D AN, &8 YOI
WBoE); &DOBL PTVDD Jo ?
(A) 77 m2 (B) 154 m2 (C) 231 m2 (D) 308 m2
30. If tan B = %, then Sin B is:

tan 0=%, @5 ,Sin 6 =7

(A) 4/5 (B)3/5 (C) 4/3 (D)5/4
31. Calculate the circumference of a circular field whose radius is 5 meters (in meters)

HT SO0 S 6R) 28 TOBHN A0, THFGEA0 5 e . e Todw dog) o S D) Doed ?

A) 10 B) 10 T] ) 15 D) 15 ]

32. The rectangular playground of a school is three times as long as it is wide. The area of the
playground is 75 square meters. What is the perimeter of the playground?

8 BY SACIT B &S° 60) e VoA B, T T DN BT T . &8 B QoD as.ggm;
75 B85 Q0D . €5 st RUED SogOEVS dodd ?

A)75m B) 40 m C)60m D) 750 m
33. (2x-6)/2=?

A) (x-3) B) (x+3) C) (6x-2) D) (2x-6)



34. If —x =6, what is the value of x?
X =623, X Dewd doh ?
A) 6x B) -6x C) 6 D) -6
35.ifx =4 and y=5, what is the value of (x> - y*)
X=4 200050 Y =523 ,(X2 —y2 )Dend doeh ?
A) 25 B) -25 C) 9 D) -9
36. The volume of a cube is 64000 cubic centimetres. What is the surface area of the cube?

208 DDA ormsb 0D HOATEAN 64000 055 Vo Zbéog.) . €8 0D &0 B Q?ve),g:m Db‘l Innlere))

2083 Qoeagd ?
A) 400 B) 1600 C) 9600 D) 16000
37. The perimeter of an equilateral triangle is equal to 210 cm. What is the length of one side of

this triangle?

28 DBVEPITN GBSt o 210 ot Deagd. e Yok w8 EHBED T Jodb ?

A) 21 cm B.42cm C) 70cm D) 140 cm

38. In a bag of small balls 1/4 are green, 1/8 are blue, 1/12 are yellow and the remaining 26
white. How many balls are blue?

208 20D D e300’ 1/ 4 & Hodhd e D3y, 1/ 8D Dok Do 20030 1/ 12 & Hodd D) DSy

Botdd &5° 620) D. WHDD L0t BYD. BY L0 26 B, Deorsn Gotd eochoen Ay ?

A) 6 B.12 C) 18 D) 24
39. A car is traveling 72kilometres per hour. How many meters does the car travel in one
second?

08 T (ot 72868° 2oeodow DIt & D90 , VL O D) ot HAIP3otoRd ?

A) 5 B. 25 C) 20 D) 15



40. Find angle x in the symmetric shape shown below.

& 00 HLIANES” X Jed dodh ?
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line of symmetry

A) 90° B. 96° C) 48° D) 180°
41. What is the area of the shaded shape.

S0 LB A0E) DYGHW Jodh ?

40 cm

14 cm 10 cm

25 cm

12 cm

wreneranalyzemath.com

A) 707 cm? B) 700 cm’ C)770 cm’ D) 777 cm®



42, Find the total surface area of the box open at the top.

DO BEA &) D D0 B D TV Jod ?

11 cm
9cm
12 cm
wwnw.analy zemath.com
A) 400 cm? B) 570 cm’ C) 600 cm? D) 670 cm’

43. If a trench is to be dug around playground which is 20 m wide and 60 m long and if the
dimensions of the trench are such that it is 1 m wide and 1 meter deep, what is the earthwork
involved in cubic meters?

20 Qotag Deeny , 60 D&Y T &) 28 9 LB SO, 2,8 DO DY O 8 DR S’

S0C5850080 FDD , WoS"D Aol Sy 2O DD DOATTRN IV I WexdH ?

A. 160 B. 164 C. 1360 D. 1200

44, Find the unknown angles (x and y) in the figures below.

& 308 DA S°D X SO Y DeNDOE B

www.analyzemath.com

A) 26°, 64° B) 64°, 26° C) 64°,52° D) 52°, 64°



45. A train traveling at 72 kmph crosses a platform in 30 seconds and a man standing on the
platform in 18 seconds. What is the length of the platform in meters?

(oergd 72 8¢5° Qoeog Dt & DRLYIOD) w8 Tew S o D 30 DEoky S0 L00ak FoeS G CS

60) 28 201D 18 doby S°R0 TrENB0B . &3 ¢S Fro TR dod ?

A. 240 meters B. 360 meters C. 420 meters D. 600 meters

46. Three years back, a father was 24 years older than his son. At present the father is 5 times as old
as the son. How old will the son be three years from now?

QAT ‘e’\)obe‘.‘sbda).)e) S350 Sod bo:b{oob , Ea5°30D sbo:ﬁo‘(o.)') SD"‘)’ 24 R)osbeébdajoo (3%} 0932}35 . QRSB
, $og éoﬁo‘&.)'b SOeb lebRY)] éoi)‘{oab S:)"Q_ 5 3o Ds.)bé . oD e“\)oée‘.‘ébdéwv ST, LA éoﬁae’wb
Doy ?

A. 12 years B. 6 years C. 3 years D. 9 years
47. What is the volume of a cone (in cubic meters) which is with radius of 7m and height of 15m?
8 B0a SPEANS” &) EQEIL P 15 e HO0KH T FYFGED T ot B, T DD
0BBEad (305D AeageS” ) dos ?

A. 770 B. 870 C.970 D.1070

48. A car travelled 281 miles in 4 hours 41 minutes. What was the average speed of the car in
miles per hour?

w8 s 281 D%y BIEAV 4 totro 41 DAHHVOS b@aé , €8 5P otod ;be?aé VTR0

GIrEA0 Joed ?
A. 40 miles B. 50 miles C. 60 miles D. 70 miles
49, Pump A can fill a tank of water in 3 hours. Pump B can fill the same tank in 6 hours. How long

does it take the two pumps working together to fill the tank?

206 00D 28 FO D 3 fotrw &R0 LA Botkd VoD 6 (ot SR oD (VY. Totdd VoD e

g0 &3 §G D Jodh DBLADBES” Do (VY ?

A. 90 minutes B. 120 minutes C. 150 minutes D. 180 minutes



50. Which of these is a rightangle triangles?

& 808 oD &S° D QEbadn woe S QEbadn ?

&) B}

3.9

)

www.analyzemath.com

A A B. B C. C D. None



